I 204

5 2 a0 g | g
B/ —
—#RIEE
X [SECC)| KECC) | HEUKZE | FiR 248 X
4A| = 242 16.5 *x[E B RE - ®mR
68 i 32.5 24.5 xE BE Fiafh - % BR
8H i 320 28.0 xE BE fox gl - p BR
108] £ 27.0 220 =[E BE fR|E -k ®mR
128 i 17.8 12.5 KRB BE Fiafh - BR
28 i 125 12.0 RE BE fxte - i8¢ mR
4ERIBIER 3
oH DO BOD SS PN T f2
(mg/) (mg/1) (mg/1) | (MPN/100ml)
F{E(75%1E) - 11 1.4(1.6) 4 9800
48] 78 10 1.6 13 5000
6A] 79 9.7 1.2 3 23000
8A| 87 12 1.4 4 11000
10A| 8.1 9.5 1.3 2 17000
12A| 80 11 <05 <1 800
2A] 76 11 2.3 1 1700
BEEE
AREVL| 2TV $h Al/OL | WME BEKER 7 ILFILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FEAEE] 001LITF | e | 001LLTF | 005LLF [0.01LLF [ 0.0005LLF JERH
F#H{E[ <0.001 <01 <0.005 <0.02 0.001 <0.0005 -
4H] <o0.001 <01 <0.005 <0.02 <0.001 <0.0005 -
6A| <o0.001 <0.1 <0.005 <0.02 0.001 <0.0005 -
8H - - - - - - -
10A] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2R - - - - - - -
ooant .- |1,.2-0o200][1,1->50a[>X-1,2->50[1,1,1-rjZ70n
PCB gy | PEERR g0 | 'zFy | nzFLy THY
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEEE] FERH (00200 [ 0002LF | 0.0040LF [0.020LF [ 0.04LLF 1LLF
F5{E] <0.0005 [ <0002 [ <0.0002 <0.0004 [ <0.002 <0.004 <0.01
4 A[ <0.0005 | <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
6A| <0.0005 | <0.002 [ <0.0002 <0.0004 | <0.002 <0.004 <0.01
8Al - - - - - - -
10A]| <0.0005 | <0002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
12H8]| <0.0005 | <0002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,12-+y4 M)A |Fr549a0x(1,3->4/00 = s = ose FARLAIL
anzsy | TFLY | FLy | Fasy |TOIL| YRUY J
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FE#(B]0.006LLTF[0.03LATF [ 0.01LLF | 0.002LLF [0.006 L4 F[ 0.003LLF 0.02LLF
FE5{E[ <0.0006 [ <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
4 AJ <0.0006 | <0.003 <0.001 <0.0002__| <0.0006 <0.0003 <0.002
6A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8H - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
128] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2A] - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE{E] 001LLTF 10.01LLF 10LLF 0.8LLF 1LLF
Eiy <0.001 <0.001 1.0 0.1 <0.1
4H| <0.001 <0.001 1.2 <0.1 <0.1
6H| <0.001 <0.001 0.91 0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 1.0 0.1 <0.1
12H] <0.001 <0.001 0.96 <0.1 <0.1
2H - - - - -
EDHIEE
Nnnn| 2R | 2% @ | 2E#® | sodkus | TYRTLT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 1.6 0.045 - 0.007 <0.001 <0.008
4R - 2.1 0.046 - 0.008 <0.001 <0.008
6A| - 1.6 0.060 - <0.005 <0001 <0008
8A| - 0.64 0.073 - 0.005 - -
108 - 1.3 0.038 - 0.006 <0.001 <0.008
128 - 1.4 0.029 - 0.007 <0.001 <0.008
28] - 23 0.023 - 0.009 - -
BiLH MY | UUEH : o i (= S
IT/=| xS coD el > AE EXEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 48 3.6 0.01 - - 230
4H| <0.02 39 3.8 0.01 - - 200
6H| <0.02 49 4.0 0.01 - - 200
8H - - 53 - - - 170
10A] <0.02 56 3.2 <0.01 - - 150
12H] <0.02 49 24 <0.01 - - 170
2R - - 2.9 - - — 470




